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INSTRU eTl0r\i5 T0 CAll DIDATES;

1. Candidates should write their name, roll number etc., only in the space provided in the fly leaf

and NOT in any other sheet.

2. The Question paper contains 100 questions:

Partl - General Xnowledge

Part ll - GeneralEnglish

Part lll - Mathematics

3. All questions are compulsory.

4. 'Each question carries 1mark.

5. There shall he (!c negqtive rfarF fior wrong answers.

6. Think well before you write your choke of annrer. lYo correctisns/Over writings are

permitted. tf found, the same wlll not be evaluated.

7. The question paper consists of I pages. Candidates should check sfiether all pages are

availa b le before answering.

8. Any unattended page ln the answer sheet must be clearly striked out.

9. Choice of answer should be wrltten in capital letter. Sor example, A, B, C, D etc
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MARKS:Lx100=100

P'ART - | ( GENERAL KNOWit DGE i

4I. The lndia Pakistan Borrier is known es...

t{. *r:r**d line t-{ #iAftlFA !lh4 f- l\/!r_ !l.l,1na4 llno i! 1_r rrcnn iin*

L tan#eia(rCi15 the 5i ur-';t til lyirr;;i: l,i :le ioiirw'nel
Fvi*ss B [!eetrie furrent Luminaus

intensity
D Ternpe iatuie

The ei*rnent comfficn tci aii *clds is

A. Carbon Hycirogen t, Sulphur D lriitroge n

4. Whieh article deals with abslition of untouchability?
1q B L. Lb D 15

5. Which eoi:r*+# is the ieading procii-;cer of iVica?
Uttar Fradesh B cdlsha e. Raja:than D. JharkanC

5. \Shich cf the following !r not a sour{e oi carbohydrate?
I'IJLdLU B Fish n ut tcc5e

Girna river is in v.rhie h srate of lndia?
i'Vlaha rastra B Gujarat L. Pi:njab ft L.lttarpradesh

eapitai cf i.-lkraine is...

A. Vtt',tt E, *desa - Dnipro D, Lviv

q Number of chi-*mosomes in Human body !s ...

A. a 46 L" t4 u 48

1al Gefeeieney *f Fiiarin{Vitanrin 83} causes *.:hieh disease?
}4., F.ie ket Ha*m*phillia L. Pe liagr* D Anaemie

11. Wh:eir vitarni* is **+iiy i*=+i w.hiie ea*king or storlng foed?
Vltamin e E. 1/;.-*i- AvrLdtiiil!fl Vitamin B D Vitan:ir: D

!t. Velocity of sound in vaccurn is .-"......

A, AB m/<er E. 0 D 330 m/s

15, The time taken bv sunlight t* reach earth ls ....
1fl A min, rtac 5 minutes C. 8.3 minutes n Q minr rfac

t\l!:ieh is the eniy organ in the b+riy ihai ran regrouJ and i"egeneraie?

K.icl neys B Liver Spleen L) Panereas

15. !f yorrr weight rs 38 kg on earth. Then how much woulci you weigh on the planet mercury?
19kg B 76# kg :tokg D. a.+, -) t\5
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1s Whc rsas rh* flrst t* d is=*ve:" that * e*nneet*d?e rrci

ivlaxweii

r ".".

L- ?"4E fdircs:I'iewtcli

1998D.C, L997s 199510n-)

t)C. Diodes

he prestig:*tjs Ehaiat Ratn* award in the
Er,A.F,i Ahrtui d*tara the ibrr':rer sf*side,1t *f lrrdia reeelveei t

LCResistors

Transistor is a camhination of two....1R

13
Snailta!"tn

Hafnium,Bromine

n CcckroachC.

n
tJ,

merc

1
I 3 chambered heart cccurs in .".

Leech

Bromine, lodine

B

rature ls ""..
Bromine,mercurY

uid state at roorn

Hafniurn,
The two elernents that are in il"u

fth faetor is related to ...t!,

22"

Bio*d pressureBiood transfusicn

l!itric AcidOxalic Acid

R in VIRUS stanels for "....'.

t)L. 5pace
A,

C"

The chemica! name of Vitamin C is '."
B, Ascorbic AcidCitr"lc Acid

Atmospheric
Fiess u re

RaisenL. RateResourcesb.A. Ra re

24.
Zine

Paraboloidal

UE!

C. Plane
What e of rnirrcr is used in a view find

B Concaveeonvex

lion
n?meta! is fastest with

C.

Reaction *f which af the
UM

mirror of a vehicle?25

lb.

Ludo

name?

MaidanBadlandBa;'kha ns

DC. Tennis

DC.5.

icrn;folthelch -rUI-, -L
ii ?qknc'r,lnd n het Arava by5Anhyp

A, iY+:,

ia formedofissicn di-
!t Iiomr*IL'I ttha
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Arche
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in nrhich

Th* term bullseye is userj in whieh
s

The area of arid

27
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sf indian ra
FifthFounn

The
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A. Seconci

D Desert sail
Which amo the fol

A. Alluviai soii

B. Third

I Chernozems?known as

Black soii
*f soil i: international

L.Red scii

network in the woi"ld is ..'...

C.
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Wfur* aerure*t-gN$trs i

Wi:ieh ef th* ici!*wi w*r"d i; spell3:..
ii^^

t-.
.L

D, iiseAccon'i iish

21 Whieh of the \i/ord is
U. AcquaireAquireD utraA.

Which CIf the foilowi word is iorreetly?
ConsienceConscience DC.B. ConscianceConsience

He is'nt here. ...."
D Haven't he ?C. ijtd he iB lsr:'t he?A, lshe?

i was born .,...
DrCnin

36. Ti-rey e{i;-nbed .... tht h hili fo*nd
t-.in

The fai'mer ivakes up "....".,.. Sunrise
ll ^$lnB AL

,r o.
U(r^me.

Adrnire
t-i Disgrae eC. llfiencB Humiii=tqn Qae

a. f*i'*i*r"tFarti*n

-t. incre d ible
uli) ILikeansur{taa !ia. ra

n ificient
t). n^-:-*DUi r ilHL. i'io;"mai,)

n,,1,
ULiii^^{. . i

LTIUI

AA

["]aicrmincClassic U.B. Unsriilfuli

4t+. Apparent
n HarmC. GenuineUne lear'ilvident

D,C. 4ftfll-liddenLttlA-

qt12nJp

unusuaiL. Ai{FNt),Nr:rmal

4

She borrowed * saw the farnner'

(alort *k* F*r:iirfi w*rti z*hirfu ie npnrpr to the

Revenf;e

f*rgive

Ilegant
Raugh



17 Brave

Confident b. fourage C. Cawardiv U daring

AAto. En+rr,LilL{ y

way DU. l)-th C. Exit Open

Poverty
ftich Dnnr C. lnferior insuff icient

fu. Defeat
A" Victory Des!roy Decrease Defy

Fillin the blanks with appropriate sptions.
51. Sita manages to do things by..."..".....

l{imseif Herseif Myseif D Ou rseives

She ............. Last night
A. Write 't''lt'ltten e. Wrate D is writiilg

53. iim ..".......... to the gyrn daiiy
Went B. Goes Ir onino LJ. gc

54. IVly mother a dress for me

A. BuY B. Brought C. B*ught D hione

55. She put a bianket the sleeping chilc
A. Thrci.lglr Cver r in

56. Two stucients appeared at an examination. One of thern secured 9 marks moi'e than the other and his

marks was 56% *f the sum of their n:arks. The marks cbtaineci bv them are:
?o ?fl n +.t,51. C. 42,33 n t+5!3+

5/ Find the number of all one-one functions from set g = {1, 2, 3} to itself .

A. 5 B" 6 C" a D

35. Fincj the vaiue of sin I i sin 13x15 i
A, 3n/5 1T1> C. a* lc U il

Find the rate ol change of the area of a circle per secend with respect ta its radius r when r = 5 crn

A. 10 ncm2/s E. 1.5 xcmz,/s C. u fte m'/s U -/h rrm'rf (

60. 1r?hat is the vali.ie cf dldx(tan ri
Sin x 5ec?x Cos x D

61. A. man walks 30 rneters towards South. Then turning to his right he waiks 30 meters. Then

turn to his ieft and rryalks 20 meters" Aga!n takes a turn tc his left and *raiks 3$ mete:"s. i-icw far is
. he from his initiai positicn?
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A. i* r:: $0m Qf1 F

M+cn weight *f m b*ys is 43 kg. lf the teaaiter wh+ :veigh: 63kg it iii:li;*ed tiie mean
i:eeo=es 45 What is the value nf m?
li b 7 L, I LJ- g

83" t, >5 tlte*:
x<5, xl5l3 H)5, C. x!-5 X!rq,-/3 r: x>-5/3

CT Two poles of heights j.* m and 15ffi srand
feet is 12m the distanc* between their tor

6on aRe nd tf d ista ne et.heH' gi"0u the iri:e tween

5m 11 s 1? E r n

65 3.0 cm, 15 cm, 3C cm h*s cut int* equa! c'.rbes. lf the block is
exhausted what wili br the iea:t numbe r *f cr:bes?

A i-netal block having stdes

u
36

66. Mini tcre out several successive pages fro*.t
the iast page which she t*re out is with the same digits in
did she remove from the book?

a h**k.Nu mber of t!'re first page she tare aut is
385. it is kns*r'n that the numberaf
seme cther order. Hcw

r:'+ fi. ?<? C. 4tiy n

F,} LSla = i.1f*.?5Find a .JI'

4.. I B, 7 r D. 5

fi8. A dealer sell: two chairs fcr Rs. 462. On one he gains 3"27o and on th* cther he l*ses 1294. Wh
f*ila is true

ich of the

A. Ha g*ins Rs,1t* s. lle gains

fts.1e.5C
He neithergains
*or leses

U. He leses Rs.18.36

*gThree tesrrdida ecntested aft e*tionel and receiv*ei L an76_16 d bl611"36, VlhatFFen'-*r ectiv€ly
OI the vate-st*tal did the winn idatee*nd

57% D b t",'a r aqo^ n Qflo/:

iIZ Ll>
.33UU 5 intsdivided -,} & HcwC,ijci { 15 A,a fIIULII is +!,--!i Id! i

;l
liC rthei ts

*-+i^
, dLiU 4

Rs.30S Rs.600 Rs.900 D, He ! xt fi l

/L O{Jt cf the tct*l ine*nre, a person spends 15% on house re*t and 65% *fthe re$t on house hold
diture. lf he save: *s.8925, What is his tstal income?

Pc B. fts.30.fiS0 C. ftc f i-i fififi rts.25,0C0

P & Q can do o*e work in 40 days.
alone can complete that work?

P alane can ds 115 af the work in 10 days ln how manv days e

10L1 !:. qn 200 da.r,s n Z:} 
'J

A persc* trav*iied with * speed af 50 KMpH for 2* Ktuipi"i f*r next 2 horii"s. Find the
ave *f the whoie

i hour *nd ir.rith

2_E (MPi-t 30 KtuIPi-i C. ?q rI\nDLJ 40 (MPH

l+,
ing th*A } L(JJ }C \.1J8S indrcppeej riv*r d*wnfreeiv a * Tnefl*wing k*sfa 2 5ridge se*ond in

rwaie Tf're-..-t- -sui )due- ha +1---
Li tcol ls
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a l-9"fi r* C, n^+^ i^ ^,JtJdad il tdu

75. 1 micr*n is uai to......
A, C.l" rnm t1. L. 0.001mrn 0.00e 1 mrn

/b. A two digit nun:bEr ls 7 times tht sun': cf its two digits. The nurnber that is f*rmed by reversing lts
,J is :18 iess than the I n*mber. What is the rrumber?

A. 52 42 C, /-1

"PlC0" m€ails,".

1A-7 D" tn+ C. t n-9 ,l L0-10

Find the surn cf fr"acti,:* which beeames li? wh*n denominat*r is increased by 4; the same factr:r
becornes 1/E if t!-re nu?'nerator is re duced 5.

A. {/5 B q/s F,/e. D

-70
The next tenm cf the sequencc 3,14,39,........,.

42 R C. n QA

80 Tv"o ti"ain: of e'tual le ngth are running on paraliel iines in the sam* directir:n at 46 km/hr and 36 kmihr
The faster train lhe slowei'train ln 35 seconds. The of each train is:

5ilm il 77 rrt L, 80m LJ S2m

F1 A man can rsw at 5 kmph in stiil weler. if the veiocity of e urrent is i kmph and it tai-.:es him I hour to
anri corne back, how fer is the lace?

1.4 KrIl n 2.3 km C, U 3..5 krn

Two, trains, *ne fr*r* Hou*reh ta Patna a*d th* *ther frorn Fatr:* to Howrah, start simuitaneously. After
they meet, the trains reach their destinati*r:s after g hours and 16 hour"s respectiveiy. The ratio of their
speeds is:

1.f, B. 4:3 C. F,.-i 3: lil

oi Find the value af xs + y3 * 3.2xy + $4, whe* x + =.-{.
L aL R fl L

.l4. Evaiuate cas{ - 87Cto}

un2 -s312 .J2 l1 n "rl

A rectanguiar cai"pet has an area cf 1;er 5a rrjetres and a Berinreter nf 45 meti-es. The ierigth *f its
IS ".,

A. 15 i'-'r E 1,6 m r 1"7 m n

&s. A al*ne ean do a piece cf wcrr in 6 days :nrj & aicne in I days. A and B undertook to Cc it f*r Rs. 32C0.
With the h*lp of C, they compieted the wark in 3 days. How mue h ls to be paid to C?

A p D- -4nn L. u. Rs.B00

87 Find rhe nunrher' of bricks tc he laid in a squai"* path *f side 1"8 e m, if th€ side of each briek is 3 cm,
afi 30 C, 5t

7

3 krn
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Tv",o trains of egu*l length are moving in same direetion cn parailel t;'acks ai speed of 92 km/hr and 72

kmlhr r*spectiveiy. The fastei'train crcs:es the siower train in i"8 seecnds. t-ind the iengih of each train.
65m D Ait m C.

((m 50m

A nran rail rsy\, a boat at e speed of ?C km/hr in stillwater, tf the speed of the stream is 5 kr"nlhr, in what
time he can ril$/ a distance of 75 krn dowr':strearn?

A. 1 E L,- 3hr C. U. ) nr

0n Find the next term of the arithmetic sequence L77,173,169, 165,...

A. a C. 1CA D 150

g1 Daku anri Tar,Tatar ean ejo a piece of woi'k in 7* and 60 days respectiveiy. They began the lvork together,
but Daku leaves after some days and Tamatar finished the i"emaining work in 47 days. After how many
Cays did Daku leav*?

14 cieys 11 i8 ciays 6 days tl 7 aays

q? The length of the langest r"sd that can b,e plaeed ii't a rcom 3G m iong,24 m hroad and 38 nr high, ir

tr :L' V/ lil r n f,fim

s3. ien years agc, the surn of ag*s of a father and his son $Jas 34 years. ift*e ratio <:f present ages ot the
father anci son is 7:2, find the prcsent age of the son.

A. 1? ye a;"s B 1i years 1O years n 8 vears

Y+ Suresh bought a cell phone from a shop. if he sells it at Rs. 8400 to Mahesh and earns a profit o{ TZ'i,
finC the price at which 5uresh bought the cell phone.

Rs.7100 R Rs.7250 Qc 7t(t"1 Rs.7500

if i2e t 1i is a prime number, which one of th: foiiowing ciigits coulo bs the value of p?

A. 3 B. L+ C" q nU 6

q6 lf January 1,, L996, v+as l.fonday, what Oay of the week was January 1, 1997?

A. I h ! rradsr, WeCr':esday t^ Frida.y LJ Suncay

Ttrv* pipes can fili a tank in 1"0 and i4 =inutes respeetiveiy= A third oipe ean empty the tank at ihe rate
of1.0 lltersy'm;nute. lf aii the Bipes *.iorking tagether ean fill the empty tank in I minutes,what is the
eapaeity ef the tank?

210 litres E 215.4 litres L. 22C iitres 225.4 iitres

Y5" lf nn and n are whole numbers such that, m" = 121, then the vaiue of {m-1in*r is
1 1n C. n

99 lf the equation 4x2+x{p+1}+1=g has exactiy two equal roots, one of the value of p is
A E B. € 0 3

How many tinles the hands of a clock coincide in a day?

24 LL C. 't2 U 2L

* * * * * *< * * r$ * * r( * ir * * * * * * * X< * {r i{ t + * r< t( * * ,t Jc

d1
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